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1 Shonhh l. 1 150000 150000

2 Zurrrlruruuh 0.5 1. 110000 55000

3 'Ituurnhurnurh t.t2 2 L10000 123200
A 'Ituuurhunuh L,L2 2 110000 123200

5 tlurutnhruntutt 1.12 2 110000 123200

6 bnurdhru- nururnhurnurL 0.5 L L10000 55000

7 'Iuruurhunulrh oqtnuLtuh t 2 105000 10s000

6 'Iuruurhuniub h oqbultr ruL T 2 105000 10s000

9 'Iurur-nhurnuh h oqhurh urh f 2 10s000 105000

10 funhurnurnh oqhruLurh 0.5 1 105000 s2s00

1.r Fnr-dpnr-rn 0.75 L 105000 78750

12 funhunurn L t 10500c 10s000

L3 'Inhruuuh 0.5 I 10500c 5250C

T4 I-rltuqulnurn 0.25 I 10s00c 26250

I) Zrut]upurnurn 0.5 T 10s00c 52s00

1b $hq.1hir. 0.25 105000 26250

T7 tlhunnlunuq 0.25 T 10s000 26250

18 Odtulmurb purhtlnn 0.25 t 105000 262s0
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